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Instructions :

(1)

(i)

(iit)

(iv)

(v)

All questions are compulsory to solve. Question Nos. 1 to 5 are objective
wype questions. Fach question carries § marks.

Question Nos. 6 to 10 are very short answer type questions. Each question
carries 2 marks. Word limit 30 words.

Question Nos. 11 to 14 are short answer type questions. Each question
carrics 3 marks. Word limit 75 words.

Question Nos. 15 to 21 are long answer type
carries 4 marks. Word limit 120 words.

Question Nos. 22 to 26 are ¢ssdy and numerical ty
question carties S marks. Word limit 150 words.

questions. Each question

pe questions. Each

(vi) Question Nos. 6 to 26 have internal choices.

(vii) There is no limit of words in numerical questions.

1x5=5

(&) FER Td T (q) awafas @ W
(ﬂ)mqﬁtqmm (@) gad g W

(iii)waﬁmﬁﬁmﬁtmaﬁmammﬁmt—

(a) 25 7 7
(@) S0 ® 100
(iv) fed & F& AH 4
(w) wwafa faETo @) e faEe
(@) fRafy fraw @) oma fwEw
(v) ErdmeE surll & YEE X
() waww foman (@) frdra R
(@) fafram e (a)ﬂamamfaiﬂﬂmaﬁf
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Choose the correct options :

(i) If a partner gets more than his previous share in the reconstituted
firm. then he is called -

(A) Gaining partner (B) Sacrificing partner
(C) Main partner (D) Influencing partner
(ii) Transfer of firm's assets on dissolution to Realisation a/c is made
at -
(A) Market value (B) Actual value
(C) Nominal value (D) Book value

(iiiy The minimum number of members of a public company must be -

(A) 25 (B) 7
(C) 50 (D) 100
(iv) Balance Sheet is called -
(A) statement of assets (B) statement of liabilities
(C) position statement (D) income statement

(v) Payment of long term debts is -
(A) Operating activity
(B) Financing activity
(C) Investing activity
(D) Both Operating and financing activities

@ e g ¥ Iur AN 1x5=§
(i) wETd % o @ P qQ T ¥ 7

(i) Prw werr A iy &1 T waivs g ¥ ?
tiii)ﬁmmﬁmﬁﬁmﬁmﬁﬁmt?

(iv) g @ wwfa o hwe aftert o ¥ ?

(v) ﬁmﬁgqumzﬁmtﬂmﬁat?
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Answer in one word / sentence :

(i) When are partner's current éa%count prepared ?
(ii) Which type of goodwill h@he highest value ?
(iii) How can a firm be dissolved in case of voluntarily
partnership ? D
, _ -
(iv) Who has a right on the ass®s of a company ?
(v) What do you call the point where the total costs are just
equal to total sales ?
A8 T 1x5=5
i_n! “’
(i) ffre am () T owE § ¥ T SuE B
qZn{
(i) @m & U™ T Pm (@) ofeEm ¥ |
o gwar ¥ |
(iii) =gl @en wen W@ ¥ 0 (@) wra@ T o ¥
(iv) Soraurll ® weaftsr (@ W ¥
(v) wreerh & ®n & Wi :(z)tiih'mmf#r
Match the columns :
;Ai 3 I-B‘
(1) Specific donation J (a) By deducting new ratio
, from old ratio
(i1) Sacrificing ratio can be know'ﬁ {(b) Compulsory
(iii) Realisation account is opened ' (¢} Does not received
(iv) Debenture holder's voting right  (d)  Dissolution of a firm
(v) Sharing profits in pannership is  (¢)  Capital receipt
320 | / O-326 4 WEENinENEn P.I.O.




125=5

(iv)tﬁﬁ%ﬁﬁﬂﬁ?ﬁmqﬁﬁlaﬁaamg}m%i
(v) W—mﬂmﬁmﬂm%mil

Write True / False :

(i) Balance Sheet is prepared on the basis of Receipt and Payment
I
o

(iiy Each partner must be competent to contract.

(iii) Sacrificing ratio = New ratib — Old ratio.
(iv) As a result of dissolutionf;df a firm, the firm ceases to exist

forever. ~

Account.

(v) A debenture-holder is treated as a member of a company.

5 fa wA & Rt B = 1x5=5

(i) ﬁ?—mﬁﬁﬂw\aﬁmg@b@w___m% |

(ii) Waﬁmﬁ&uma@____%mﬁmiﬁﬁam%
i

(iii) wors &1 wfaws Cowr ¥

(iv) alﬁa‘raaeqqﬁ____wm% |

v) mww___ﬁﬁmifsnﬁﬂéﬁr%u

Fill in the blanks :

(i) The main aim of non-trading prganisations is providing ]

(ii) On the death of a partner lhzr;—*_jjimount due to be paid to the deceased
partner is transferred to his~_____ Account.

(iii) The consideration for debenture is

(iv) The ideal current ratio is

(v) Payment of income tax relates t0 activity,
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7

et A AemvaTh e 4 @ DA oRw fefm

Write any

sq@ / OR

wo differences between Trading and Non-trading organisations.

e amrd @E aTd wm & W wA ¥ 7

How do the non-profit organisations acquire their incomes ?

anEr ¥ yEiet @ oM F gued 7

What is meant by reconstitution of partnership firm ?

sqa / OR

T F A B T AR |

Explain the meaning of gaining ratio.

- gyl § fF-fee oofl & ot P sran ¥ 7

Which assets are included in non-current assets ?

9@ / OR

o] iyl § F-aE @ R i o ¥ 7

Which items are included in non-current liabilities ?

Tm-aer fada REor & ¢ 2

What do you mean by common size financial statement ?

Sya / OR

oo i frator @ % 2

What do you mean by comparative financial statement ?

320
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11

12

HA WM IO wTE 7
What is Gross Profit Ratio 2

wyar / OR

o e wm ¥ 7

What is current ratio ?

wEErd d9E @ 99 g9 IO fafeg |

Write any three contents of partnership deed.

vy / OR

W@TWW@‘?WW:B:Z%W‘*WWE@W
e ¥ | o A @ 18.000 5. @ Fo 1 gems 2016 & faar |
AT geE W W W b weg § A9 § | o B gEm 31 e
2016 H ¥ Bl € | o F O ET A e @ T S|

Aman and Ankit are partners in a firm sharing profit-loss in the ratio

of 3:2 respectively. Aman gave advanced to the firm a sum of

Rs. 18,000 as loan on 15 july 2016. The partnership deed is silent on

the question of interest on loan payable to partners.
Compute the interest payable by the firm to Aman, assuming that the

firm closes its books on 315t Dec. 2016.

H@Eﬁﬁﬁ%ﬁﬂﬁﬂeﬂmﬁﬂ%ﬁmﬁfﬁqwm |
Write any three differences between dissolution of partnership firm and
dissolution of partnership.

s / OR

@ﬂ%ﬁmmu&rmﬂﬁ%mmﬁaﬁmﬁa@ﬁ%m 10,000 .
gﬁﬁ%iﬁumﬂaﬁrm% | gEE w1 oew e @ s ?

What journal entry will be made when Yesh, a partner agrees to pay

the realisation cxpenses of Rs. 10,000 on behalf of the firm ?

320
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13 afrad e & zad fafae |

fad

Write the conditions of compulsory dissolution.

sgar / OR

ATar B 06 1 ¥ qUqT & ouE ¥ 9RER ¥ | oaer fager 31 9 2018 @
ﬁwmm;

fazer (31-3-2018 =)

(%) &)
AL 90.000 | ¥7=TT 40.000
A & F=U 40.000 | fafayr wwafeal 1.40.800
o n
A 20,000
B 30.000 50.000
1,80,000 180,000

SH R TN W & Rgew g frofg R | 2RI @ 30,000 F. e
Rt st & 1.20.000 5. wgw gu | g @R TET
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A and B are cqual partner in a tirm. Their balance sheet on 3

MR stood as under -

Balance Sheet (as on 31-3-2018)

|5t March.

—— ]
Liabilities Amount | Assets Amount
(Rs.) (Rs.)
Creditors 90.000 | Debtors 40,000
A's loan 40,000 | Sundry Assets 1.40.000
Capital Ac @
A 20.000
B 30.000 50,000
1,890,000 1,80,000
Thev decided to dissolve the firm on that date. Debtors
“ealised Rs. 30.000 and sundry assets realised Rs. 1,20.000.
Prepare Realisation A/c. '
14 o oit weh ¥ wen A e ffe 3

Write any three differences between partnership and company.

aw@ / OR

By fafee 3 1005.m@r§b.000maiarmﬁﬁﬁham !
H"I"inﬂlqmgsaaqﬁﬁmﬁ?mﬂﬂi | T B gRRl A MEES

e yiaReai Hifm |

Privansh Ltd. issued 50,000 éq';;lity shares of Rs. 100 each payable on

application itself. The entirc amount was received in a lump-sum for

these shares. Pass necessary journal entrics in the books of the

Cl‘il‘l‘ipan}-.

320 | / O-32¢6
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15 Mmt'ﬂwﬂmiﬁmﬁwmﬂ' foafga |
Write any four rules applicable in the absence of partnership deed.

sgq@ / OR

X am Y #A: 32 F w9 H A ¥ 1 3@ gonr waen 50,000 F
a0 30,000 . ¥ 1 ¢ W 5% S T H WA AT T 1Y & 5.000%
affE g @k ad 2017 F Y B I [ H @ @@ T T A
73 % qd 12500 ® # ww @1 | & e Free e a9

X and Y are partners in the ratio of 3:2. Their capitals are Rs. 50.000
and Rs. 30.000 respectively. Interest on capital is payable at 5% per
annum. Y is allowed an annual salans of Rs. 5.000. The profit for the
year 2017 before calculating Y's salary and interest on capital amounted

to Rs. 12.500. Prepare Profit and Loss Appropriation Account.

16 hma w9 3 wfaemy 9 9 #=r f@fae o 4
Write any four differences between average profit and super-profit,
ga / OR

s w4 fema ar o st # wwen 10,000 B 6.000 ®., 12,000 ®. @
18.000 %, & @M &A@ 1 4§ 50,000 & H G & APEe fe @
¥ | fafram & gwma 2T 3 yET % magm ° 15% wided @1 wfa ®
Mo A9 99 F BT H AU UT offyeny fafty ara Sifeg |

A firm camed profits of Rs. 10.000. Rs. 6.000. Rs. 12.000 and Rs. 18.000
respectively in four preceding vears. The capital invested in the firm
is Rs. 50.000. The rate of return of inmvestment in such business is
I3 percent per annum. Calculate the value of goodwill at three years

purchase by super-profit method.

7320 / 0-326 '
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17 waiEA W9 26 F AT @y 5 dwim # fafa w oo g 3

Discuss the procedure of accounting of goodwill according to Accounting
Standard 26.

wqa / OR

frar, fft @ TN UF w4 gum Am-wfr afzd aw A ¥
TR i ¥ I U A e e B 2201 TER W A
frr | saR B e § fee wmen @ P mm s gz A A
AT F oW AT B 7

Priya, Preeti and Pooja are partners in a firm sharing profits and losses
equally. Now they decided to keep their mutual ratio as 2:2:1 respectively.

Find out the gain or sacrifice of each partner.

18 @ sl % @ are @ fafaw 4
Write any four advantages of equity shares.
s / OR

B fafids 3 10 & a= 10.000 &9 dgr AW g Wt Priftm few
R 3@ wEw A T . AEET T3 E O A ERT W3 E uf
amamguqqa.yﬁqmamm4ﬁ.uﬁsmumnﬁrﬁmm

ﬁﬁtﬂ#ﬁgﬁﬁﬁ-ﬂﬁwmqﬁmm:

B limited jssucd 10.000 cquity shares of Rs. 10 each at par.
Amount Pavable per share Rs. 3 on Application. Rs. 3 on Allotment
and Rs. 4 on first and tinal call. All the money were duly received.

Pass necessan journal entries inthe books of company.

320 | / O-326 1 HEil R AW P.T.O.




(Y)
sumd OR

fli?%mm (10 5. 9t HOT9H 410y

i ez 100 & am@ 10,000,
. umﬂﬂﬂinmmmafw

Rt fpe | et T ored &

Khushi limited issued 10,000, I'Z% Debentures of Rs. 100 cach at

Rs. 110 per debenture. The cntire ai’ﬁnunl was reccived with applications,

{ 4

Draw up neecssary journal cntriesoin the books of the company.
)
)

20 )z Pt B 9 9@ woE $ YER B A9wEe | (BE )

Discuss the different kinds of debéhturcs which a company can issue.

™y

(any four)

way] OR

mﬁaﬁh%m@mﬁs,mﬁ%aﬂr%mﬁaﬁ@m | %9 I
% YA @60 FH T TG e @ 100 @ A 15% Horgs 109, difwd
w%%uﬁﬁm%mmmm%l

sonu limited purchased & "“ﬂchmw worth Rs. 550,000 from At

Trad aq
raders and issued them 159 d_gbenturcs of Rs. 100 cach a1 10%

entries in the books of the Company

320] / 0.326
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1w RREE 2013 § S e § M ¥ wm cwwm @ o

i & 6T T W e o &

Which items are Written in the yead of “equity and liabilities™ part of

balance sheet of @ company accanding to the C ompanies Act 2013 7

Seat - OR

e QT ¥ W-E & g Raer &9 iR

| e M-12207 | 31-12-2018
BEICE IR 10.00.000 E 15.00.000
!!?FT g 2.00.000 1[ 1.80.000
| =q 6.00.000 10.30.000
R 50% 50%

Prepare comparative statement of profit and loss from the following

statement
| Particulars 31-12-2017 31-12-2018
|
i Revenue from operation 10.00.000 13.00.000
i Other income 2.00.000 1.80.000
[ Expenses 6.00.000 10.30.000
+
% Tax rate 30% 3004
r

320 | / O-32¢
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22 m—amﬁmdﬂaﬁzmﬂﬁﬁﬁ‘wmﬁ*ﬁ“ﬁ“““mﬂm 5
Write any five causes of adopting cash system by non trading organisation,

sq@ / OR

Pt QS % oM WX A F F 31 Rt 2017 B F o oy
TR - A @ Y - |

| o 2017 @ 9w 5,000 5., WA g 4,200 T, T 3,300 %,
ReTAIT 2,700 ., wTEY %4 1,000 &, faf =@ 850 =

From the following informations, prepare Receipts and Payments A/c of

Madhav Club for the year ending 315t Dec. 2017 :

Cash balance on 1-1-2017 Rs. 5,000, Membership fees Rs. 4,200, Salary

Rs. 3,300, Rent Rs. 2,700, Furniture purchased Rs. 1,000, Sundry exp.
Rs. 850.

23 Prgoae | gas wEER @ g ufy @ T fRE e @ o ¥ 7 S

How is the amount payable to retired / deceased partner calculated ?
sy / OR

A.B, C 7w D #8%: 3:2:1:4 % orqud & SRR ¢ | A wd @ o
TSN Y I BAam C O A gy oy 32 00 ¥ W w7 &
mmmmmﬂmmﬁﬂmf

A.B, C and D are partners in the ratio of 3:2:1:4 respectively. A retires
ffom the firm. A's share is acquired by B and C in the ratio of 3:2.

Find out new profit sharing ratio and gaining ratio.

320]/ 0526 14 (agimmaug P.T.O.
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25

't

AM & w=h (Fro) B fata fafmo
Write the procedure of forfeiture of shares.
vy / OR

X fafzs 0 3 G & 10 5 a@ 200 g T i g 4, & B
fore iR @ ST T 3w Wi sy ohw o aren TR 4 T Wi
v & T @ T gEE | e vaw omde Rt 3 T uRy oiw A WA
wﬁﬁiMHﬁﬂﬂﬁaﬁaﬁsﬁ.uﬁ!ﬂmﬁnﬁWW
%7 fau T leisﬁa%:ﬁhamqa:ﬁ?hﬂmmuﬁwaﬁmi

X Lid. company forfeited 200 shares of Rs. 10 each. fully called-up

held by Suresh who paid application money only @ Rs. 3 per share

but failed 10 pay allotment money a Rs. 3 and final call money

@ Rs. 4 per share. All his shares were re-issued to Rinki @ Rs. 8 per

share as fully paid up. Give journal entries for forfeiture and re-issuc¢

of forfeited shares.

aawhﬁamaaarfaa‘fﬁmmanﬁmﬁﬂi? 5
What are included in current assets and current liabilities ?

s / OR
s T F T mﬂ4.5:l%aﬂ1a’ﬂﬂm§¢|ﬂ3:l% | afY =i @ I
72.000 %. t.?ﬁﬁﬂﬁ‘ﬂﬁlﬁmﬁm |
The current ratio of a company is 4.5: 1 and its liquidity ratio is 3:1.
If the value of stock is Rs. 72.000. then find out the amount of total
current liabilities.

15 Wy eANIg r.T.O.
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26 W Awm P Aqn g % M feaen m e AR SRR

Discuss in detail the classification of activities for preparing cash

flow statement.

W / OR
s awrE foarn dur T & fom P we @ (1) SEEE R
(2) fafradm femai am (3) fadm fRma 9 @iga AR
(1) = ® wa
(il) @My ® YIae
(i) o & Fiss
(V) HTAHT H Y1aH
(v) @maIeT & Wit
Classify the following items into (1) Operating activities. (2) Inesting

activities and (3) Financial activitics while preparing a cash {low

statement

(i) Purchase of machinery
(iny - Pavment ot dividend
(111) Issue of debentures
() Pavment of income tax

vy Dividend recened,




